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B. Com. (Third Year) Examination, 2024
~ (Minor-1I)

(Commerce)
MANAGEMENT ACCOUNTING
Time Allowed : Three hours
Maximum Marks : 70
Minimum Pass Marks : 25

e : 79 A @vE F g #1 IR ARIER
g 1 371 1 AT @vel % gasr faar
2/

Note : Attempt questions of all three sections as
directed. Distribution of marks is given against
each section.

QuUE-' 3’
Section-*A’

(a|fg wvT) §x1=5

(Objective Type Questions)
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Note: Attempt all the following questions. Each
question carries 1 mark.

l. ¥ I F1 997 Ffaa—

Choose the correct answer :

() WEvR wafafy yEy # ggEm T -
 (a) Fm frarem o
(b) Fw fridvm o
(c) Faw frdam o

(d) 3wrs |t

Management Accounting helps the management :
(a) Only in planning

(b) Only in direction

(¢) Only in control

(d) In all of the above

@ we w=fe wftre 7! #—
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(d) Tz =g

The term current assets do hot include :
(@) Stock

(b) Debtors

(¢) Car

(d) Prepﬁid Expenses

@ F=fafen ¥ $-w Avs ommEle T E—
(@) TR ¥ w5
(b) T 1 Fefre
(c) e # e
(d) =t wafoal =t fa
Which of the following is nof a cﬁs’h inflow

(@) Decrease in Trade receivables

(b) Issue of shares
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(¢) Decrease in Trade payables

(d) Sale of fixed assets

(v) wu-fyede fag o% forg & fo W —

(&) T T F T F wE e 3
(b) SivEH Fo wrdht @ F qUE s ¥
() 7 @ g & 7 T

d) 39w |

B.E.P. is the point at which :

- (a) Total revenue is equal to total cost

(b) Contribution margin is equal to total Fixed

cost

(c) There is no profit no loss

(d) All of the above

.'fi) g 60% %FﬁﬂTQ(f%ﬂT1$ﬁ”¢ﬁ3ﬁhﬁﬁﬁ?ﬁﬁﬁﬁﬁﬁTﬁn:

Z 24,000 T3 T 48,000 B M 80% & R FA
AT E—

(a) T 88,000

(b) T 80,000
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(c) T 56,000
(d) T 1,04,000

If fixed and variable cost at 60% capacity are ¥

24,000 and T 48,000 respectively, total cost at
80% capacity would be : |

(a) T 88,000
(b) T 80,000
(c) ¥ 56,000
(d) T 1,04,000

Q@us-|q'

Section-‘B’

(Y ST U9 ) 5x5=25
(Short Answer Type Questions)

e : T g IV F IW AT TRF T D
T 797 F S &) T4F J97 S 3-73"}
F1 &1 sifirwaq weg T 250 W=

Note: Attempt all five questions. One question ﬁbm

each unit is compulsory. Each question carries
3 marks. Maximum word limit is 250 words.
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yars-1
Unit-1
2. WOYE Sraiwd @ oy @ GOwd § 7 R uwm
qOTRQ |

What do you understand by Management Accounting?
Explain its importance. |

AYAT
Or

TeYRE Fufaty w1 sfonfie sifve ) we dme
H s Fif
Define Management Accounting'. Discuss its limitations. i
FTs-11
Unit-11
3. fasia faaeon & favevo @ =0 avE 2?2 39 W
AT | ' Gl
What is meant by Analysis of Finanqial Statements?

Discuss its objects.

HAYAT
Or-
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ST Pavei T @ e oy ¥ 7 argura faweror %
<A ¥?

What is meant by Ratio Analysis? What are the objects
of Ratio Analysis?

ws-111

Unit-111

4. UFT Yo frexor | oy = gog R ? T WEE W
faa= s

What do you understand by ‘Cash Flow Statement’?
Explain its importance.

AIAT
Or

TEANHIA SThe Q@ = Afurg B ? 19 I2vE Fasy |

What is meant by Management Audit? Explain its
objectives.

FEE-IV
Unit-IV 138

5, TF T I % A 9HE e TER —

2022-23- - 2023-24

AT (FHIEA) | 1,500 1,200

L]
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1,200 1509 f

far o (afE) X 12,000 ¥ 12,000
et (s g) e TS
R (wfr ) Tk
R s (s v B
e g0 (wfr v . t20 o4

=R
2022-23 Ht %18 whran 7€ o1 | M9 TY 2022-23 TG '

2023-24 & fog sraviyer wrma fafy ¥ s #F T
Hifsrg |

Cost data of a manufacturing company are as follows :

e TSR SR

2022-23 2023-24
L s O SERN  SC  bemlistaih i

Output (units) 1,500 1,200 ‘-
Sales (units) 1,200 1,500
Fixed Cost (Annual) - T 12,000 T 12,000

Materials (per unit) TS5 TS
Wages (ber unit) T3 z 3
Variable‘Expense_s (per unit)l | bt ael d
Selling Price (per unit) - 20 g2

There was no stock on 2022-23. You are required to
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work out profit for 2022-23 and 2023-24 by Absorption
Method,
AT
Or
dar e fafy @ @0 sty 22 o fadmand

FqaTEd |

What is meant by Marginal Costing Method? Explain s

charactenistics.

-V
_ Unit-V
6. oRd Frim & = sy R 7 T9E SRl W@ Gl
F1 fag= wifeu)

What 1s meant by Budgetary Control? Discuss its

objectives and limitations.

HAAT
Or

YeiY gfdeed ¥ AN T ? 39S fagrean SaRe

What is meant by Management Report? Discuss its
characteristics. |
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Section-*C*

(dnt s v #x10n4g

(Long Answer Type Questions) E

e : frefaras wm g & @ frdl a0 v &
Wﬁﬁmmmma‘# w?wﬁiw
VIsg G4 500 Vg '

Note: Attempt any four questions out of seven.
questions. Lach question carries 10 marks.

Maximum word limit is 500 words.

7. WaYRE d@iRT R faxiig oaied § e siel
Differentiate between management accounting and
financial accounting, '

8. Y & T G ¥ MR W P oFuml w M
s e
(a) TN Yot ST
(b) =T S
’(c)'ﬁWfﬂTeﬁqm,
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(€) §FE ®Y U
T
3 ?
LSRRI 80,000 farsra 1,50,000
1 40,000 GaTe 99 25,000
RI% 20,000 3 T T W @I 75,000

Calculate the following ratios from the details given
below :

(a) Working Capital Ratio

(b) Current Ratio

(c) Liquid Ratio

(d) Operating Ratio

(e) Gross Profit Ratio

Details :

S 2
Current Assets 80,000 Sales 1,50,000
Current Liabilities 40,000 Operating Expenses  25.000

Stock 20,000 Cost of Goods Sold  75.000

9, fr= geell ¥ RS yoT® faww TR wfE—
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9 31.03.24 310327

“ﬂ b
B 1
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- -,
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i

L

it

T

II

. uar e s ? .
Y FIN- -.;
SNEVE | 2,50,000 2,00,000 i
o= faao 1,98,000 83,000 |
R T

 ASHTEA HR (10% F0r95) 75,000 1,00,000
o] 2fTg-

HYFTA IUR (T 3YR) 9.000 7,500
I . 53,000 37,000

- SACHHICAA TEHH (3 & fea waw™) 16,000 12,500
~6,01,000 4,40,000

1. weafaat |
TS HufaE - et 2,15,000 1,80,000
W 04000 | —
smd it (Yem) 12,000 20,000
ECEIRIENRER 38,000 25,000
=] TRt - ' :
fawgdmg wfayfaar 4,000 - 5,000
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i 1,40,000 1,16,500
S AT 68,000 73,000
792 Td THE FA 30,000 18,500

37 Te] TR -
3ty friy =19 ' ; — 2,000

6,01,000 4,40,000

() 9 smaferEa T 27,000,
(@) a8 & oimia = & fa y@u™ 2 17,000

Prepare cash flow statement from the following

information :

Particulars . 31.03.24 31.03.23
L EQUITY and LIABILITY 3 4

Shareholders’ funds:
Share capital 2,50,000 2,00,000
Statement of P& L 1,98,000 83,000

- Non-current liabilites :

Long-term borrowings

(10% debentures) 75,000 1,00,000
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Current liabilities -

Short-term borrowings (cash credit) 9,000 7,500 j_

Trade Payables 53,000 37,000

Short-tmnprovision(pw.ﬁonﬁrtax)16,000 12,500 |
6,01,000 4,40,000

II. ASSETS

Non-current assets : _

Fixed assets : Machinery 2,15,000 1,80,000

Buiding 94,000  — |

Intangible assets (patents) 12,000 20,000 _

Long-term investments 38,000 25,000 I

Current assets : k

Marketable securities 4,000 5,000
Inventories ©1,40,000 1,16,500
Trade receivables 68,000 73,000
Cash&_cashequivalents 30,000 18,500
Other current assets | I
Share iésue expenses 8 | iy 2,000

6,01,000 4,40,000
Additional Information :
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(i) Depreciation written off ¥ 27,000.
(i) Provision for tax made during the year ¥ 17,000

10. (A) . T fo wrefee @ Fraton et @ WY TR
) TER [ whed ¥ G A S
1,00,000 Sftza =1 €| v v € we
# wd W wfred F I w1 Aed |
w9 ¥4 ¥ fae Wit # @ 2 6,00,000, 10 T
¥ anfdes e wfeq s 3R A1 &9 1,50,000
wfregl =Y €| GO @ F9 & Ara wEw: 60
1] yfa o 3k 80 ¥R wie @ w | wiw F
gEm 2 6,000 WA A9 ENT | HEA I W W@
gy A W AR T F 75% B R A
H{E ¢ syfiame # %W geg wfa T 2.50
ufy sHE #) wRma W wEy 39 ¥ frem-fa
w7 ¥ YEY W W W AT TR Afe-fe
FrE™ § wfvzg & fasto w1 ot @ e |
iz 9 T ey

New Asia Ltd. manufactures bicycles but buys bells
from the market. The normal annual requirement
will be 1,00,000 bells. There is a proposal that the
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company should produce these bells itself

The cost of the machine for this purpose will be
¥ 6,00,000, with an economic life of 10 years and
the annual capacity will be 1,50,000 bells. The cost
of material and labour will be 60 paise per unit and
80 paise per unit respectively. The power usage will ;
~be ¥ 6,000 per year. The company charges fixed j
indirect expenses on production equal to 75% of
labor costs. The price paid to suppliers is T 2.50

per unit. Management discusses the proposal with
you.

Give your opinion to the management : whether the _
bells ;hOLﬂd be manufactured in the factory or should |
continue to be purchased from outside? - |

(B) =1 g=mstl | wny-Am 31T'-l1ﬁ T-fo=eg fag

a9 [N I WA R MO RifE—

| . z |
fersra | . ~3,00,000
e T R i ool
WfEdaeia @m0 1,50,000

 Calculate P/V Ratio, B.E.P. and Margin of Safety :

320308

Scanned with CamScanner



[17]

'—,.————-_———-——'————_——'_—

&
Sales 3,00,000
Fixed costs ' 90,000
Variable costs 1,50,000

11. T HFT ¥ 5,000 THEE & IWRA R T F1 foerw

frt war &—
wfd ¥R (%)

i 50
7 - 20
wﬁaﬁaﬁﬁa Iy conll
fegt 39ftma ¥ 50,000 10
wITETTE T (5% i) 10
fosra =3 (20% femm) 6
famm =13 (10% fe) 5
W ¥ FE Em 116

HITH! 7,000 $HTE F IEH W A9 AR w=E B

The expenses for the production of 5,000 units in a
tactory are given as follows :
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Variable Overheads 15
Fixed Overheads # 50,000 10
Administratiye Expenses (5% Vanable) 10
Selling Expenges (20% fixed) .
Distribution Expenses (10% fixed) 4

12, 7 ot fafgs—
(a) st @ =]} fiofa
(b) m fagn ¥ oftads
(©) e Frem '- 1

(@ i o
(e) Eﬂm L |
Write a note on the following :

~ (a) Make or Buy decision

r e P p— — -
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(b) Change of Product Mix
(¢) Pricing
(d) Exploring New markets

(¢) Shutdown decision

13. F W feoit fafed—
(@) WY TR
(b) TR TR
(c) [ MYR ¥
(d) IR wore
(€) FSURT Iheyo
Wirite a note on the following :
(@) Cash Budget
(b) Flexible Budget
(c) Zero Base Budget
(d) Performance Budgeting
'(e) Management Audlt
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